











## Information-theoretic approach to random networks ...



The Langrangian for the above problem is given by the below expression

$$\mathcal{L} = -\sum_{G} P(G) \ln P(G) + \alpha (1 - \sum_{G} P(G)) + \sum_{i=1}^{r} \theta_i(\langle x_i \rangle - \sum_{G} x_i(G) P(G)),$$
(4)

where the multipliers  $\alpha$  and  $\theta_i$  are to be determined by (2) and (3).

Differentiating  $\mathcal{L}$  with respect to P(G) and then equating the result to zero one obtains the desired probability distribution over the ensemble of graphs with given properties (2)

$$P(G) = \frac{e^{-H(G)}}{Z}$$
, (5)

where H(G) is the network Hamiltonian

$$H(G) = \sum_{i=1}^{r} \theta_i x_i(G), \qquad (6)$$

and  ${\cal Z}$  represents the partition function

$$Z = \sum_{G} e^{-H(G)} = e^{\alpha + 1}.$$
 (7)





